

$$\frac{31}{(775)} \quad f'(x) = \frac{8}{x^2} + \frac{1}{2\sqrt{x}} \rightarrow f(x) = \int \left(\frac{8}{x^2} + \frac{1}{2\sqrt{x}} \right) dx = -\frac{8}{x} + \sqrt{x} + C$$

$$f(1) = -7 = -\frac{8}{1} + \sqrt{1} + C \rightarrow \boxed{C=0}$$

$$f(x) = -\frac{8}{x} + \sqrt{x}$$

$$0 = -\frac{8}{x} + \sqrt{x}$$

$$0 = -8 + x\sqrt{x} = -8 + x^{1.5} \rightarrow x^{1.5} = 8 \rightarrow \boxed{x=4} \quad (4,0)$$

$$\frac{33}{(775)} \textcircled{1} \quad f'(x) = 0 = \frac{1}{2\sqrt{x+2}} - 1 / 2\sqrt{x+2}$$

$$1 = 2\sqrt{x+2}$$

$$1 = 4(x+2) \rightarrow \boxed{x = -1\frac{3}{4}}$$

הנקודה הזו היא נקודת קיצון.

$$f(x) = \int \left(\frac{1}{2\sqrt{x+2}} - 1 \right) dx = \sqrt{x+2} - x + C$$

$$f(-1\frac{3}{4}) = 2\frac{1}{4} = \sqrt{1/4} - 1\frac{3}{4} + C \rightarrow \boxed{C = 3\frac{1}{2}}$$

$$f(x) = \sqrt{x+2} - x + 3\frac{1}{2}$$

$$\textcircled{2} \quad f(0) = \sqrt{2} + 3\frac{1}{2} \quad (0, \sqrt{2} + 3\frac{1}{2}) \quad \text{חומר, צריך אולי x}$$

$$0 = \sqrt{x+2} - x + 3\frac{1}{2}$$

$$x - 3\frac{1}{2} = \sqrt{x+2} \quad / ()^2$$

$$x^2 - 7x + 12\frac{1}{4} = x+2 \rightarrow x^2 - 8x + 10\frac{1}{4} = 0 \quad \text{חומר, צריך y}$$

$$x = 6.397 \quad (6.397, 0)$$

$$x = 1.602 \quad (1.602, 0)$$

$$\frac{36}{(775)} \quad f(x) = \int (\sqrt{x+3} - \sqrt{x+1}) dx = \frac{(x+3)^{1.5}}{1.5} - \frac{(x+1)^{1.5}}{1.5} + x + C$$

$$f'(x) = 2 = \sqrt{x+3} - \sqrt{x+1}$$

$$1 + \sqrt{x} = \sqrt{x+3} \quad / ()^2$$

$$4 + 2\sqrt{x} + x = x+3$$

$$2\sqrt{x} = -1 \quad / ()^2 \rightarrow \boxed{x=1}$$

$$f(1) = \frac{2}{3} = \frac{(1+3)^{1.5}}{1.5} - \frac{1^{1.5}}{1.5} + 1 + C$$

$$\boxed{C=5}$$

$$f(x) = \frac{(x+3)^{1.5}}{1.5} - \frac{x^{1.5}}{1.5} + x + 5 = \frac{2(x+3)^{1.5}}{3} - \frac{2x^{1.5}}{3} + x + 5$$

כל הזכויות שמורות ל <http://heshbonia.com/>